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���VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�1R����(UJHoO൴�6DUÕVX3DWQRV��$ö5,�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 0(+0(7� $/ø� d25$3/,�� +$/ø7� 2÷OX� 68/7$1
GHQ� ROPD�� ����������� GR÷XPOX�

0$1ø6$�൴O൴��.8/$�൴OoHV൴��%(%(./ø�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD
QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1$ø52%ø� �.(1<$� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ����085$7�'$%$1,%h<h.��0(+0(7�2÷OX�+$7ø&(
GHQ� ROPD�� ����������� GR÷XPOX�

.ø/ø6�൴O൴��0(5.(=�൴OoHV൴��<(1ø�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR����
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1HG൴P� gNPHQ� 0DK�� )HUDKOÕ� 6N�� 1R���.൴O൴V
0HUNH]��.ø/ø6�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������085$7�(57h5.��.$'ø5�2÷OX�+$/ø0(
GHQ�ROPD�������������GR÷XPOX��%856$�൴O൴�

<,/',5,0�൴OoHV൴��'$987.$',�N|\�PDKDOOHV൴����F൴OW������D൴OH�VÕUD�QR����
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�1$ø52%ø��.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 085$7� *h=(/62<�� 0(+0(7� 2÷OX� 1$)ø<(
GHQ� ROPD�� ����������� GR÷XPOX�

<2=*$7�൴O൴��625*81�൴OoHV൴��7ø)7ø.�N|\�PDKDOOHV൴������F൴OW�����D൴OH�VÕUD
QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 5(6('$� �$0(5ø.$� %ø5/(ùø.
'(9/(7/(5ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 0867$)$� *(1d�� $%'8//$+� 2÷OX� 1$=ø)(
GHQ� ROPD�� ����������� GR÷XPOX�

d2580� ൴O൴��257$.g<� ൴OoHV൴�� .$5$+$&ø3� N|\�PDKDOOHV൴�� ��� F൴OW�� ��
D൴OH� VÕUD� QR�� ���� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1$ø52%ø�.(1<$
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 0867$)$� .,5$1�� .(0$/� 2÷OX� $<ù(
GHQ� ROPD�� ����������� GR÷XPOX�� 5ø=(� ൴O൴�

d$0/,+(0ùø1�൴OoHV൴��723/8&$�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD�QR�
��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ�1$ø52%ø� �.(1<$�&80+85ø<(7ø� ൴NDPHW
HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ����1$'ø5�.,/,d�� 6$',.�2÷OX�&(11(7
GHQ� ROPD�� ����������� GR÷XPOX�� '(1ø=/ø� ൴O൴�

dø95ø/�൴OoHV൴��g='(0ø5&ø�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR�����VÕUD
QR
GD�Q�IXVD�ND\ÕWOÕ�1$ø52%ø��.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������1$=/,�<,/0$=��%(<1$%ø�.Õ]Õ�h1=ø/(
GHQ�ROPD�������������GR÷XPOX��6$.$5<$

൴O൴��*(<9(�൴OoHV൴��$/ø)8$73$ù$�N|\�PDKDOOHV൴����F൴OW������D൴OH�VÕUD�QR���
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� o � ù \ � � �
VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� )HY]൴� dDNPDN� 0DK�� dDNÕU� 6N�� 1R��� øo� .DSÕ
1R��.�o�NoHNPHFH��ø67$1%8/�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 1(6ø%(� .$5$'80$1�� 0867$)$� .Õ]Õ� +$99$� $<185
GHQ� ROPD�� ����������

GR÷XPOX��08ö/$�൴O൴��.g<&(öø=�൴OoHV൴��723$5/$5�N|\�PDKDOOHV൴����
F൴OW�� ��� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1$ø52%ø�.(1<$
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ����1ø+$7�$56/$1�� 0(+0(7� 6,'',.� 2÷OX� )$70$
GHQ� ROPD�� ����������� GR÷XPOX�

+$..$5ø�൴O൴��0(5.(=�൴OoHV൴��(/0$&,.�N|\�PDKDOOHV൴�����F൴OW�����D൴OH
VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 020%$6$� �.(1<$
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 260$1� 0(0øù%(<�� h=(<ø5� 2÷OX� &(0ø/(
GHQ� ROPD�� ����������� GR÷XPOX�

$',<$0$1�൴O൴��*(5*(5�൴OoHV൴��%(<%267$1�N|\�PDKDOOHV൴����F൴OW����
D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1$ø52%ø�.(1<$
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������g0(5�86/8��0867$)$�2÷OX�185(1
GHQ�ROPD�������������GR÷XPOX�൴O൴��%25129$

൴OoHV൴��.$=,0'ø5ø.�3,1$5%$ù,�N|\�PDKDOOHV൴�����F൴OW����D൴OH�VÕUD�QR����
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 5$0$=$1� $..,/,d�� $%%$6� 2÷OX� *h/6(1
GHQ� ROPD�� ����������� GR÷XPOX�

'ø<$5%$.,5� ൴O൴��d(50ø.�൴OoHV൴��*g.7(3(�N|\�PDKDOOHV൴����� F൴OW�� ��
D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1$ø52%ø� �.(1<$
&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������5$0$=$1�$..857��$+0(7�2÷OX�)$70$
GHQ�ROPD�������������GR÷XPOX��6øø57�൴O൴�

(58+� ൴OoHV൴�� (.ø1<2/8� N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD� QR�� �� VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� )DV൴K�.D\DEDOÕ�&DG��0HVXG൴\H�0DK��1R���� øo� .DSÕ
1R���0(56ø1�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������5(&(3�<,/',=��+$/ø6�2÷OX�5$+ø0(
GHQ�ROPD�������������GR÷XPOX�൴O൴��6$5,.$0,ù

൴OoHV൴��%(ù<2/�N|\�PDKDOOHV൴�����F൴OW����D൴OH�VÕUD�QR������VÕUD�QR
GD�Q�IXVD
ND\ÕWOÕ�1$ø52%ø��.(1<$�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������5,'9$1�ødg=��(/%(<ø�2÷OX�)$70$
GHQ�ROPD�������������GR÷XPOX��%$<%857� ൴O൴�

$<',17(3(� ൴OoHV൴��$.%8/87�N|\�PDKDOOHV൴����F൴OW����� D൴OH� VÕUD� QR�� ��
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�1$ø52%ø�.(1<$�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������6$'5(77ø1�d(/ø.��$=ø=�2÷OX�+$7ø&(
GHQ�ROPD�������������GR÷XPOX��<$/29$�൴O൴�

0(5.(=�൴OoHV൴��.$',.g<�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR����VÕUD
QR
GD�Q�IXVD�ND\ÕWOÕ�1$ø52%ø�.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������6(/0$1�$<&$1��g0(5�2÷OX�0h=(<<(1
GHQ�ROPD�������������GR÷XPOX�൴O൴�൴OoHV൴�

.2d8/$5�N|\�PDKDOOHV൴�� ��� F൴OW�� ���� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD
ND\ÕWOÕ�dDYXúR÷OX�0DK�%DUEDURV�+D\UHWW൴QSDúD�&DG�%൴QD�1R�����'D൴UH�1R�
��0HUNH]�.DUWDO�øVWDQEXO�7�UN൴\H.DUWDO��ø67$1%8/�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
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68d � 6 D H | g J�W� H h\H 2 D
68d�7$5ø+ø�� ���������
ùh3+(/ø�������6(59(7�72.��0(+0(7�=ø<$�2÷OX�$<7(1
GHQ�ROPD�������������GR÷XPOX��%ø7/ø6

൴O൴��7$79$1�൴OoHV൴��2'$%$ù,� N|\�PDKDOOHV൴�� ��� F൴OW�� ��� D൴OH� VÕUD� QR�� ��
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�0$/,1',��.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������6ø1$1�g=7h5.��+h6(<ø1�2÷OX�=(<1(3
GHQ�ROPD�������������GR÷XPOX��6ø9$6�൴O൴�

8/$ù� ൴OoHV൴��*h0hù3,1$5�N|\�PDKDOOHV൴������ F൴OW�� ��� D൴OH� VÕUD� QR�� ��
VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�1$ø52%ø��.(1<$�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������ù$.ø5�d$98ù��ø/$0ø�2÷OX�0(1(.ù(
GHQ�ROPD�������������GR÷XPOX��d$1.,5,�൴O൴�

257$� ൴OoHV൴�� 0(5.(=� N|\�PDKDOOHV൴�� �� F൴OW�� ���� D൴OH� VÕUD� QR�� ���� VÕUD
QR
GD� Q�IXVD� ND\ÕWOÕ� %D÷ODUEDúÕ�0DK�� ùHK൴W�0XVWDID� '�QGDU� 6N�� 1R��� øo
.DSÕ�1R���0DOWHSH��ø67$1%8/�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� ù$.ø5�ù(+ø5/ø��.$'ø5�2÷OX�+$7ø&(
GHQ� ROPD�� ����������� GR÷XPOX�� 1øö'(� ൴O൴�

%25�൴OoHV൴��%(.7ø.�0$+�d8.85.8<8�N|\�PDKDOOHV൴�����F൴OW�����D൴OH
VÕUD� QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ�1�.HPDO�0DK��dD÷GDú� 6൴WHV൴� ��%ORN
'����.ÕUDo�%�\�NoHNPHFH��ø67$1%8/�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������ù(12/�.21,ù��0867$)$�2÷OX�1$=0ø<(
GHQ�ROPD�������������GR÷XPOX��%2/8�൴O൴�

6(%(1�൴OoHV൴��7(3(�N|\�PDKDOOHV൴�����F൴OW����� D൴OH� VÕUD� QR�� ��� VÕUD� QR
GD
Q�IXVD�ND\ÕWOÕ�1$ø52%ø�.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������ù8+('$�6$ö/$0��$+0(7�2÷OX�&$13$ù$
GHQ�ROPD�������������GR÷XPOX��%856$

൴O൴��260$1*$=ø�൴OoHV൴��%$ö/$5%$ù,�N|\�PDKDOOHV൴�����F൴OW�����D൴OH�VÕUD
QR����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������7$+6ø1�$6/,��)$+5(77ø1�2÷OX�<,/',=
GHQ� ROPD�� ����������� GR÷XPOX��.$<6(5ø

൴O൴��+$&,/$5�൴OoHV൴��.$538=6(.ø6ø�N|\�PDKDOOHV൴����F൴OW������D൴OH� VÕUD
QR�� ��� VÕUD� QR
GD� Q�IXVD� ND\ÕWOÕ� 1$ø52%ø�.(1<$� &80+85ø<(7ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������7$0(5�<(*ø7��+ø00(7�2÷OX� ø)7$5
GHQ� ROPD�� ����������� GR÷XPOX��'(1ø=/ø� ൴O൴�

dø95ø/�൴OoHV൴��(0ø5+ø6$5�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR�����VÕUD
QR
GD�Q�IXVD�ND\ÕWOÕ�(P൴UK൴VDU�0DK��'HGHN|\�&DG��1R��d൴YU൴O��'(1ø=/ø
൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 7$5,.� h1$/�� ø6$� 2÷OX� $=ø=(
GHQ� ROPD�� ����������� GR÷XPOX�൴O൴�� *g0(d� ൴OoHV൴�

.$5$$ö$d�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD
ND\ÕWOÕ�1$ø52%ø��.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 78ö%$� $7,/*$1� 6$ö/$0�� +$&,� .Õ]Õ� +$&(5
GHQ� ROPD�� ����������� GR÷XPOX�

%856$�൴O൴��0(5.(=�൴OoHV൴��%$ö/$5%$ù,�N|\�PDKDOOHV൴�����F൴OW�����D൴OH
VÕUD�QR�����VÕUD�QR
GD�Q�IXVD�ND\ÕWOÕ�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø�������h0ø7�$<',1��+$6$1�2÷OX�6$7,
GHQ�ROPD�������������GR÷XPOX��d$1.,5,�൴O൴��,/*$=

൴OoHV൴��$ù,./$5�N|\�PDKDOOHV൴�����F൴OW����D൴OH�VÕUD�QR�����VÕUD�QR
GD�Q�IXVD
ND\ÕWOÕ�020%$6$��.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d � 6൴ODKOÕ 7HU|U gUJ�W�QH h\H 2OPD
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68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ����9(/ø�(1(6�.2d��(<<83�2÷OX� 68'ø<(
GHQ� ROPD�� ����������� GR÷XPOX�� 6ø9$6� ൴O൴�

0(5.(=�൴OoHV൴��(6(17(3(�N|\�PDKDOOHV൴������F൴OW�����D൴OH�VÕUD�QR����VÕUD
QR
GD�Q�IXVD�ND\ÕWOÕ�1$ø52%ø�.(1<$�&80+85ø<(7ø�൴NDPHW�HGHU�

68d���6൴ODKOÕ�7HU|U�gUJ�W�QH�h\H�2OPD
68d�7$5ø+ø�� ���������
ùh3+(/ø��� ���� 9(<6(/� 7h5h'h�� $.ø)� 2÷OX� $'ø/(
GHQ� ROPD�� ����������� GR÷XPOX�� 25'8� ൴O൴�

0(68'ø<(�൴OoHV൴��hd<2/�N|\�PDKDOOHV൴�����F൴OW������D൴OH�VÕUD�QR�����VÕUD
QR
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